ML Meguro Language Center

JLPT N4 Kanji Quiz — 19/34 Answer
M1 EIcis HEEZ LTEEND,

(1) & 1 b 2 XF 3 & 4 =5

(2) 17< 1 H< 2 &< 3 BL 4 <

3) HE I XHown 2 rkwn R 4 LBV

B2 K%T i =o2o=7V7% 2O0FLI,

(1) K= 1 29529 2 HwINL 3 MBoIH 4 s
(2) Fiz 1 LwiZ 2 Bbiz 3 7=FiC 4 72 FIC
(3) FVOFELE 1 WKPFELE 2 FHOELTE 3 FORELE 4 260NFELE

13 $9 TZLT TALDSH [FoloLEd,

(1) +zL 1 L 2 /L 3 &L 4 KL
(2) TAL® 1 B 2 EH 3 FH 4 FE
(3) II-oL= 1 ¥ 2 2 3 B HL 4 J\H

fil 4 Zo &BVIT Bbolktdh {ZLFEN BBWTT A,

(1) &8V 1 @y 2 JEV 3 D 4 @Y
(2) BbL-or- 1 Hor 2 Aol 3 Borm 4 Bt
(3) <%%F J=: 2 H 3 H 4 H

M5 LbHe [FEb FAXTT,

(1) bbb 1 = 2 R 3 ik 4 3
(2) i 1 2 A 3 4 Jr
(3) FAX 1 2% 2 LA 3 2K 4 £H



